FBund your o

uul_&

_x m(m[mmm m 2 a0 cmumm umcmc




ﬁf

i

STAGE

22

23

24

25

Official

lower safety harnesses
Fuel pumps
Instrument panel

Instruments

AN
2eEERRERE SRS

> DSAGOSTINI

www.model-space.com

PAGE
89

93

97

98

Published in the UK by De Agostini UK Ltd, Royds Withy King, 65 Carter Lane, London EC4V 5EQ.
Published in the USA by De Agostini Publishing USA, Inc., 299 Park Avenue ® New York, New York 10171.

Licensed N All rights reserved © 2020
Product LICENSED
PRODUCT Warning: Not suitable for children under the age of 14.
Ford Motor Company Gulf trademarks under license This product is not a toy and is not designed or intended for use in play.
trademarks and trade from Gulf Oil International Ltd.

dress used under license
to ehk China Company Ltd.

Items may vary from those shown.



STage 22:
Lower safety harnesses

YOUR PARTS

22-A Rear partition window

22-B Safety harness lower
part 1

22-C Safety harness lower
part 2

22-D Safety harness lower
part 3

22-E Safety harness lower
part 4

22-F Engine compartment
tank

22-G Engine compartment
tank filler tube

22-H FP01 screw 2.3 x 4mm
22-H FP04 screw 2.3 x 4mm




STEP BY STEP

STEP 22-1
Insert the engine compartment tank filler
tube (22G) into the engine compartment
tank (22F). Secure the tube from the inside
with an FPO1 screw.

STEP 22-2

Retrieve the interior partition and
mount the tank (22F) in its location,
inserting the tab into the slot. Secure
the tank with an FP04 screw.

STEP 22-3

Place the interior
partition window (22A)
into the corresponding
space in the partition.




FORD GT

4 STEP 22-4

To install the lower safety harnesses,

take the previously assembled seats.

Insert the end of safety harness lower

part 1 (22B) into the slot in the side of

22-B the seat. Turn the seats over and press

| the end of the harness onto the pin on
the underside.

© 990000000000 00°0-0-0-0-0-0-0-0
.0000090090000090_0:079"0'0’0
20006009 ©070-0-0-0-0-0"0"0
560000 0-0-0-0-0"0-0" 00
999099 000 0000 0 0

@0000?

e et s et 4t e

‘:-"\-—"-4‘--1‘

STEP 22-5

Pass safety harness lower part 3 (22D) through the inner hole of the seat
and secure to the pin on the underside, as shown.




STEP BY STEP

STEP 22-6

Repeat this process to fit

the other two lower safety

harnesses to the second seat.

.97070"0"00

0-0-0~0-0-

7\

Jeeeee0e

e a= 0000000
® @006 00
9© 000 0¢

A}

¢ 660000009

R R RCRCRCRCRCA J
PRYRCRCRCRCRCRCAL )
‘a-..eo..,
PRCRCRCRCRCRCRORC AL )

SR RCRCRCRCRCRCRORC )

&

STAGE
COMPLETE




STage 23:
Fuel pumps

YOUR PARTS

23-A Interior partition
23-B Fuel pumps

23-C Tube 1

23-D Tube 2

23-E FPO1 screw 2.3 x 4mm
23-F FP02 screw 1.8 x 4mm




STEP BY STEP

STEP 23-1

Insert tube 1 (23C) into the
indicated hole in the fuel
pumps (23B).

STEP 23-2
Insert the end of tube 2 (23D) into
the end of the pumps, as shown.

STEP 23-3

Take the end of the right
tube and insert it into the
middle hole, as shown.

STEP 23-4 STEP 23-5

Take the end of the left tube and insert Insert the pumps into the indicated hole in the interior

it into the other central hole. partition (23A) and secure from the other side with an
FPO1 screw.




FORD GT

STEP23-6 [

Recover the rear interior partition
(20A) and combine it with the partition
supplied with this stage. Align the five
corresponding locations and secure
with five FP02 screws.

STEP 23-7 STEP 23-8
Position the assembled partition on the Insert the end of tube
floor, just behind fuel lines. 1 into the hole on the

connection plate (18B).




STEP BY STEP

STEP 23-9
Secure the partition
to the floor with four
FPO1 screws.

STAGE COMPLETE

\ Note : La photo correspond a un prototypeJ




STage 24:
instrument panel

YOUR PARTS

24-A Instrument panel

Step 24-1

Keep the instrument panel supplied with this stage to one side until the next stage.



YOUR PARTS

25-A Instruments base

25-B Instruments glass

25-C Left switch block

25-D Right switch block

25-E Instrument sticker sheet
25-F FP02 screw 1.8 x 3.5mm

STage 25:
instfruments




FORD GT

-

STEP 25-2

Separate and place sticker

A2 onto the base, as shown.

Complete the instrument

panel with the remaining

stickers. The other stickers
are all the same.

STEP 25-1

Carefully separate the sticker
A1 from the instrument sticker
sheet (25E) and place it on its
location on the left side of the
instruments base (25A).

STEP 25-3
Insert the left switch block (25C)
into the corresponding holes
in the instrument panel (24A)
supplied in Stage 24.



STEP BY STEP

STEP 25-4

Then place the right switch
block (25D) in position in
the instrument panel (24A).

STEP 25-5

Place the instruments glass
(25B) on the reverse side of
the instrument panel, onto
the three posts.

STEP 25-6 [

Place the instrument
base into the glass. .
Press lightly to secure.

25-B




FORD GT
STEP 25-7

Secure the instrument glass and
base to the panel with two FP02
screws in the outer posts, leaving
the central one free.

FPO2 Free P02 |

STAGE
COMPLETE




